






  

    PHYSICAL SCIENCES GRADE 10 

QUESTION 1







1.1  Scalar


   (1)




1.2  Wave


   (1)


1.3  Polarization

   (1)










           [3]







QUESTION 2

2.1  
F. gives displacement or  gradient of a …




   (2)

2.2  
F. zero disturbance = node  or  maximum disturbance = anti-node
   (2)

2.3  
F. … a magnetic …








   (2)













[6]
QUESTION 3

	3.1
	A
	B
	C
	D

	3.2
	A
	B
	C
	D

	3.3
	A
	B
	C
	D








[3 X 3 = 9]





     



           TOTAL SECTION A : 18

QUESTION 4

4.1.1 uniform acceleration or increase in velocity
(



4.1.2 uniform velocity therefore zero acceleration
(




(2)

4.2
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4.3
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a   =  8 m·s-2 ( forwards
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4.4
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4.5.1 km·h-1
(










(1)

4.5.2 multiply by 3,6   (
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4.6.1

[image: image4.wmf]at

v

v

i

f

+

=

 



[image: image5.wmf]t

10

v

v

i

f

=

-

-

(


[image: image6.wmf]t

10

40

0

=

-

-

((

[image: image7.wmf]s

4

t

=

(













(4)

4.6.2
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      = (40)(4)  + ½ (-10)(4)2 (

      = 160 – 80

                  = 80m (
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  (((
Therefore after 7s the car travelled 190m. ( To slow down a further 80m is travelled.

Total distance needed to stop is  190m + 80m = 270m (



(5)
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QUESTION 5

5.1.1) Destructive

(









5.1.2) Superposition

(
5.1.3) +10cm


(








(3)
5.2.1) 18/3 = 6cm

((
5.2.2) UP


(
5.2.3) E


(
5.2.4) AF


(








(5)
5.2.5)
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5.2.6)
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(3)
5.3.1) Total Internal Reflection
((







(2)
5.3.2) - Incident ray in at an angle greater than the critical angle


(
- Ray moves from a medium of greater optical density to one of less
(
- The light ray undergoes reflection back into the same medium

(

(3)
5.3.3) Medicine – endoscope

Telecommunications


(( (Any one)
Christmas tree (Decorative)








(2)
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QUESTION 6
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